B K + T H OB & (—#4 )
FEH! M AERTEEL Y
V= 108.50 X  0.10 = 10.85 m°® 10.
RAE T THEEL
V= 9.51 +  3.44 = 12.95 m°® 13.
WEREL +ITHEELY
v= 8.13 + 2.80 + 1.75 = 12.68 m°® 12.
I R A R E/HEll = 10. 85
IR = 12.95
= 23.80 m° 23.
R& A3 B i K+ = 0. 00
HE L vV = 12. 68
= 12.68 m°® 12.
S U B! ( #EEl + R ) — (Bt + HE ) /0.9
V= 23.80 — 12.68 /0.9 = 9.71 m°® 9.




BFRT ($300) +THEE

1 A
PR B -0:97 -
BRUGEAL) [ - 0-83 -

100001 T —

- L w

R 1 (W=1. OmLA_F2. Om77is)
0.97 X 9.80

R (e KR G 1A
0.83 X 9.80




UBAIE T (3ff300C) T+ TEEE

wooE -
B 48| 0.86
BRU(HBAL) - 0.70 -
CoBRiEL | 0.08 -
600
7 i (W=1. OmEL_F-2. OmAT)
0. 86 X 4.00
= 3. 44

R (e R G 1A
0.70 X 4.00




FEMWT VSR (300X300) +TEEE

/;/ | B iy
— R E —
// Bf """ | —
BRELGEAL - 0.25

‘ -CoHRiEL |~ 0.21 -
?

R (e KR G 1A
0.25 X 17.00




BEAKEE Y T 3 B & (—t4 1)

R T

UL X LD

(3F#300C) L= 2.00 2.00 m 2.0
BT XK LD

(¢ 300) L= 9.80 9.80 m 9.8
AE KT

ALKkt T XK LD
(300X 300X600) N= 2.00 2.00 A 2.0




U

pinl}

Ml ¥ (3 FE 300C)

st (10mx4 )
520
300
UZ!481;3% (3%8 300C L=2000)
e AVR—Favsy—Fk
£ (18-8-25BB)
[ fg BEILZIILA:3)
si- ‘ ‘
E Bt S s Ro-40)
340
540
£ i at H BN 5
UZRURIT 10.000 =  2.000 = 5.000 @ & 5. 00
(3F&E300C) ( L=2000, 23 H &=584kg/fH )
SHEIRGRE D YA o VR,
A 2N— |k 0.300 X 0.150 X 10.000 = 0.450 @ m® 0. 45
a7 U—h
(18-8-25BB)
e L X L 0.340 X 0.030 X 10.000 = 0.102 m® 0.10
(1:3)
AR 0.540 X 10.000 = 5.400 @ m? 5. 40
(RC-40, t=10cm)
FHHEEIE 0.540 X 10.000 = 5.400  m? 5. 40




300)

B ¢ (10m4 1)
400
50 300 50
BE
23 L (¢300)
3 8 »
- @ HEILZIL
o / (1:3)
D
- [ T
3 OOCS
HEM
100 240 [100
440
£ i At " BN 5
Bt N= 10.000 -+ 2.000 5.000 & 5. 00
(¢ 300) ( L=2000, &% & &=419ke/fE )
SHEIRGRE D YA o VR,
e L& V= 0.240 X 0.030 X 10.000 0.072 @ m® 0.07
(1:3)
AR A= 0.440 X 10.000 4.400 | m? 4. 40
(RC-40, t=10cm)
FHHEIE A= 0.440 X  10.000 4,400 @ m? 4. 40




(10424 10)
520
110, 300 110
[T
520
110 300 110
HL—FUhE TLF v R MEKH
300 x 300 300 x 300 x 600
-25 %iEE KL FEE (PUBH fB 25
[LITTTTTTTT
(18-8-2588) =
e S E PP Dl g O 5
(18-8-25BB) B X L
EBH
(RC-40, t=10cm)
5 520 0
50 620 50
720
44 R at " BT 2K &=
M EPUMHFE Y &4 N=  1.000 X 10.000 = 10.000 | %5 10. 00
(300 X 300 X 600) ( Z2EHEE=178kg/3E )
JL—F 7% N= 1.000 X 10.000 = 10.000  # 10. 00
(T-25, 300 X 300)
A 28— K V= 0.050 X 0.300 X 0.300 X 10.000 = 0.045 m?® 0. 05
a7 U—h
(18-8-25BB)
HEitar 70—+ V= 0.620 X 0.620 X 0.100 X 10.000 = 0.384 m?® 0.38
(18-8-25BB)
[F] T A= 0.620 X 0.100 X 4.000 X 10.000 = 2.480 m? 2.48
HAERL A= 0.720 X 0.720 X 10.000 = 5.184  m? 5.18
(RC-40, t=10cm)
FHHEEIE A= 0.720 X 0.720 X 10.000 = 5.184 m? 5.18




At

=

(—XYHv)
T AT 7 v M T
eI M AERTEEL Y
(t=50mm) A= 108.50 = 108.50 m? 108.5
A HE XY
(M-30, t=100mm) A= 108.50 = 108.50 m? 108. 5




el 4% i B 5 &
v a0 % R Hu L
oS 4 il (m) & NS [T g DA S| [T & DA S| [T
(m) (m) (m?) (m) (m) (m?) (m) (m) (m?)
NO. 0 NO. 0 + 0. 00 0. 00 7.00 7.00
NO. 0+15. 5 NO. 0 + 15. 50 15.50 7.00 7.00 108. 50 7.00 7.00 108. 50
&t 15.50 108. 50 108. 50




E

it

(—XYHv)
X I L
X H (EE MR
(A, i@15em, £ L= 15. 50 X 2.00 31.00 m 31.0
KO LD
X JH GRELIE S )
(A, i§15em, AR L= 7. 80 7.80 m 7.8
SO mE LY
X (KHID)
(B, I 15iRSE, X5 - 2 8) 5. 30 X 1. 00 5,30 m
5.3 m/fE T
(REI®)
5.70 X 1. 00 5,70 m
5. Tm/ & AT
L= 5.30 + 5.70 11.00 m 11.0




BEY M = T

A B

(—=4v)
RS EUEE L T
a7 U—h No. 0+14. 5fF 3T RER TR EUsE L
HEEwEEE L Vi= 0.21 X 7.00 .47 m°®
(T 17)
Ei- TR N S
- R -
185 e T
B
No. 0+13. 5fF3r (F - /) BEGRANERUE L
V2= 0.08 X  4.00 0.32 m’
coREL | 008
V= 1.47 +  0.32 .79 m°® 1.
SRERROIT L= 7.00 + 7.00 14.00 m 14.
(T7AZ7 7))V 1)
(t=15cmPL )
T AT 7Lk HEmAEREE LY
SRAEAEUE L A= 108.50 108.50 m? 108.
(t=10cmlL F)
TERRALEE T
IR EAERREUEE L LD
(72774 k) V= 108.50 X  0.05 5.43 m® 5.
B FEEYEUE L LY
(=7 y—p) V= 1.79 .79 m°® 1.
ALy IER LD
(7277 k) V= 5.43 5.43 m® 5.
RISy RIEME LY
(= y—1r) V= 1.79 1.79 m?® 1.
BGRAENER N= L —F T EH 1.00 [H] 1.




WMEMWRMELHEAESE

(2)

(—x¥En)
AT A W= 37: 00 X ) 7.00 259.00 kg
(8RB, ~E—H3) X7 L—F T 37, 0kg/ X
0.26 t 0. 26
BLG 7 A sk
N= 0. 26 - 2.00 = 0. 130 1. 00 [=] 1.0

(2tFEH)




